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1 Shophl: I I 1 00000 100000

2 Qhqurp{huurur\urtr rlurufr rl*nhf I I 88312 88312

3 lur2rlurqurh I 1 8831 2 88312

4 lnpEurlrup I 1 8831 2 88312

5 $purrlurpruhurl |llr purdhfr rl*phl I 1 88312 88312

6 $prurlurpurhur{urp t4 l4 88312 1236368

7
crr qrrulqnuur qul u ldur uquPru uF
.L,^,,,^t ,,,,.^-- 1 1 88312 88312

8 bp\purqflnur\urh prutrqrupurtrf $nh4urqurh 1 I 8831 2 883r2

9 bp\pruqfrurur\urh pruhqupurtr[ hu\fr2 1 I 88312 88312

10 T hurn\hpurupurhf qfrnur2fuuunl 1 I 88312 88312

11 'tluln\hpurupurhfr hu\|r2 2 2 88312 176624

t2 U. fuurhqurrllurhfr rnmh purhq. rlurp|2 1 I 88312 88312

l3 U. fuurLqrurllurhfr lnnrh purhq. qfurur2fu I I 8831 2 88312

t4 @runp[ upurh[ q[rnur2]uururnrl I I 88312 88312

t5 bprud2rnru\url, lurlph r1h\urrlurp I 1 88312 88312

t6 bpurd2rn. |urfpfr urhlunltrhp 13 l3 8831 2 1 148056

17 Uhpn4fruur 2 2 8831 2 176624

18 Oqhpurr.nnp- uquruurp\nr1 I 1 88312 88312

19 Shr.nhurlurp 1 1 88312 88312

20 Odurhrlur\ purtnlnp 1 1 88312 883r2

2l Zurrlrupruprup 3 3 88312 264936

22 tllurhur\ 2 2 88312 t76624

(a4ulttrp 50 50 4427288
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